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Effective low-energy “chiral” Lagrangian

Holography and Warped extra-d
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Inert Composite-Higgs Model

Defined by extra Z2 :

1 A
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h2 → −h2

SM → + SM
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〈h2〉 = 0
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Z2 exactly conserved

NO (h2)2n+1 couplings
Immediate consequences:

➡ Automatic solution of        and Flavor problems.

1 A

δρ

h1 → + h1

h2 → −h2

SM → + SM

+

〈h2〉 = 0

1

➡ Stability of lightest h2 component (DM candidate).

➡ Double h2 production @ colliders.
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Spectrum:

Inert Higgs: O(6)/O(4)xO(2)
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Signatures of composite-NGB:
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Conclusions

If the hierarchy problem is solved by strong dynamics, we can expect 
rich phenomenology of pseudo-NGB’s.

motivated framework for extended Higgs sectors

example, Inert composite-Higgs model (not near MSSM)

➡ completely viable

➡ predictions: large h2 masses, mh2 ~ 450 GeV

small custodial splittings, |mH+ - mA|  ~ 10 GeV

O(v2/f2) ~ 20% deviations in couplings


